AMERER(HAREMH)

T = 4 KT AL T KIE L 55 KBRS 12 T3(ZF 0 366)
T F 5 pr  4#EhTT AX HN
A KL B OB Af 5 £ 9 H 25 H (H) 10 B 30 4
LK 4 % - OBLEBNARD M E B O 5 1 E Bl oo %d - )
T E Al K - (Biir) - (Bitk)
= - ®Lir) H - ®r) A - (BiiA)
FesIR s . . .
- ®itk) - B W - (Bitk)
T g1 SERl HE A H 25 Sf 6 4 2 H 29 H
HoY 3 TR
A fL & % e
Z-—% oo oo = oo
- A AL % mo & RN Eol] o i =
TR .
: <7ﬁ>mﬁﬂ§$ﬁffﬁ Eﬁi’%
R T E N
2 <ﬁ>f£}”;§% ¥73,697,000 %ﬁ}@%
AR ¥ E MM
3 %M?%E%.ﬁi ¥66,180,000 i
ﬁﬁ\% D
M —
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19

20




